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#4 a) True  b) False  c) False  d) False 

 

#5 3𝑥(𝑥 + 2) = 4𝑥(𝑥 + 1) → 𝑥 = 2 ∴ 𝑃1 = 20 𝑢   𝑃2 = 22 𝑢       

 

#6 𝑥2 = (𝑥 − 2)(𝑥 + 3) → 𝑥 = 6 ∴ 𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝑜𝑓 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒 = 26 𝑢  𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒 = 24 𝑢 

  

#7 
𝑥(𝑥+1)

2
= (𝑥 + 1)(𝑥 − 4) → 𝑥 = 8 ∴ 𝑇ℎ𝑒 𝑠𝑞𝑢𝑎𝑟𝑒 ℎ𝑎𝑠 𝑎𝑛 𝑎𝑟𝑒𝑎 𝑜𝑓 36 𝑢2 ∴ 𝑝𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 = 24 𝑢 

 

#8   𝑥(𝑥 − 4) =
(𝑥+2)(𝑥−3)

2
→ 𝑥 = 6  ∴ 𝑚𝐵𝐶̅̅ ̅̅ = 8  𝑢, 𝑚𝐴𝐵̅̅ ̅̅ = 5 𝑢,   𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 = 18 𝑢 
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#11 
4𝑥

6
=

8

𝑥+1
→ 4𝑥2 + 4𝑥 − 48 → 𝑥 = 3   

 𝐴𝑟𝑒𝑎 𝑜𝑓 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒 ① = 24 𝑢2  
𝐿𝑒𝑛𝑔𝑡ℎ 𝑜𝑓 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒 ③ = 8 𝑢  𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝑜𝑓 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒 ③ = 22 𝑢 

  

#12 𝑥 = 𝑠𝑖𝑑𝑒 𝑙𝑒𝑛𝑔𝑡ℎ 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒; 𝑒𝑎𝑐ℎ 𝑓𝑖𝑔𝑢𝑟𝑒 ℎ𝑎𝑠 𝑎𝑛 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑥2 

𝑚𝐶𝐸̅̅ ̅̅ = 2𝑥   𝑚𝐹𝐸̅̅ ̅̅ =
𝑥

2
    → 𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝑜𝑓 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒 = 5𝑥 → 𝑥 = 3   

  ∴ 𝐴𝑟𝑒𝑎 𝑜𝑓 𝑒𝑎𝑐ℎ 𝑓𝑖𝑔𝑢𝑟𝑒 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 9 𝑐𝑚2   
 

#13 a) 
4𝑥

5𝑥+4
=

3𝑥

4𝑥
→ 𝑥 = 12 → 𝐴𝑟𝑒𝑎  ∆𝐴𝐵𝐹 = 1536 𝑢2   

  𝐴𝑟𝑒𝑎  ∆𝐴𝐹𝐸 = 864 𝑢2 ∴ 𝐴𝑟𝑒𝑎 𝑜𝑓 𝑝𝑒𝑛𝑡𝑎𝑔𝑜𝑛 = 4800 𝑢2 
 

 b) 𝑚𝐴𝐵̅̅ ̅̅ = 80,   𝑚𝐴𝐸̅̅ ̅̅ = 60, 𝑚𝐸𝐷̅̅ ̅̅ = 24,   𝑚𝐶𝐷̅̅ ̅̅ = 100, 𝑚𝐵𝐶̅̅ ̅̅ = 24 

→ 𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝑜𝑓 𝑝𝑒𝑛𝑡𝑎𝑔𝑜𝑛 = 288 𝑢   
 

#14 
(𝑥+4)(2𝑥+1)

2
= 𝑥(2𝑥 + 1) → 𝑥 = 4  ∴ ∆𝐴𝐷𝐸~∆𝐴𝐵𝐶 →

8

12
=

9

𝑚𝐵𝐶̅̅ ̅̅
→ 𝑚𝐵𝐶̅̅ ̅̅ = 13.5 𝑢    

∴ 𝐴𝑟𝑒𝑎 𝑜𝑓∆𝐴𝐵𝐶 = 81 𝑢2 
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4) 10(5)ℎ = 103 → ℎ = 20 𝑐𝑚    

 

5) a) 𝜋(32)(6) =
𝜋(𝑟2)(6)

3
→ 𝑟 = 5.2 𝑐𝑚    

 

 b) 𝜋(32)(6) =
𝜋(32)(ℎ)

3
→ ℎ = 18 𝑐𝑚   
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#6 a) ℎ = 4 𝑐𝑚   
 b) ℎ = 12 𝑐𝑚   
 

#7 𝑟𝑎𝑑𝑖𝑢𝑠 𝑜𝑓 𝑐𝑜𝑛𝑒 = 𝑟√3   
 

#8 𝑥(𝑥 + 4)(𝑥 − 2) = 𝑥3 → 𝑥 = 4 ∴ 𝐴𝑟𝑒𝑎 𝑜𝑓 𝑝𝑟𝑖𝑠𝑚 = 112 𝑢2  𝐴𝑟𝑒𝑎 𝑜𝑓 𝑐𝑢𝑏𝑒 = 96 𝑢2   
𝑇ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑡ℎ𝑒 𝑝𝑟𝑖𝑠𝑚 𝑖𝑠 16 𝑢2 𝑚𝑜𝑟𝑒 𝑡ℎ𝑎𝑛 𝑡ℎ𝑒 𝑐𝑢𝑏𝑒 

 

 

#9 a) They are equal 

 b) The height if the cone is the triple of the prism’s height. 

 

#10 𝑉𝑜𝑙𝑢𝑚𝑒 𝑜𝑓 𝑐𝑢𝑏𝑒 = 216 𝑐𝑚3  → ℎ𝑒𝑖𝑔ℎ𝑡 𝑜𝑓 𝑐𝑢𝑏𝑒 = 6 𝑐𝑚 

∴ 𝑉𝑜𝑙𝑢𝑚𝑒 𝑜𝑓 𝑝𝑦𝑟𝑎𝑚𝑖𝑑 = 216 =
62ℎ

3
→ ℎ𝑒𝑖𝑔ℎ𝑡 𝑜𝑓 𝑝𝑦𝑟𝑎𝑚𝑖𝑑 = 18 𝑐𝑚 

∴ 𝑇𝑜𝑡𝑎𝑙 ℎ𝑒𝑖𝑔ℎ𝑡 𝑜𝑓 𝑠𝑐𝑢𝑙𝑝𝑡𝑢𝑟𝑒 = 24 𝑐𝑚  


